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GROUP - A
fastst =

1. Answer any ten questions from the following : 10 x 2 =20

Frefefe a-cem it o Tea fim ¢
a) What 1s value added method ?
T} AWCAEA ofwlo INE 46 2
b) Define transfer income.
TBIGQ WA Heeq) e |
c) What is High Powered money ?

T Torm w2

d) What will be the value of average propensity to save, when the value of
average propensity to consume 1s 0-8 ?

51 (W19 AT N 0-8 9T 51G APY AITOT AW P (@ ?
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What will be the value of the investment multiplicr, if the value of marginal

propensity to save is 0-25 ?

I WY 2RTOR TH 0-25 6 [ @@ I $ 2@ 2

What do you mean by the term ‘full employment’ ?

‘ofef Tt s =iy vl fww |
What do you understand by demand pull inflation ?

bifwt e TR o 2

What is marginal propensity to consume ?

ofIF (SIS AT FIE AET ?

What is bank rate ?

® (6 5 2

What is Say’s law of market ?

TS FTE Say-9ad R 2

What is progressive tax ?

oisfoaey 39 5 2

State two arguments in favour of protection.

FRTHR AT 96 e e |

What do you mean by rate of exchange ?

fffww 2% <=1ce & @@= 2

What is induced investment ?

e fRfvcns e 2
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GROUP - B
faotet - <

Answer any five questions. 5 x 16 =80

AT S o7 Tw v

2. State the reasons behind the income inequality. How can you measure income
inequality ? What are the solutions to eliminate the income inequality ? 4+ 8 + 4
I RIET IRVGHA FOH 3] IF7 | PO AW RN AR 0 I 2 MW @I
T 33 135 o Jorry @y 2

3. Explain the process of credit creation by the commercial banks. Explain the
limitations of this process. 12+4

FfefETE M ANES [ orafo A 334 | @B ofeFarr Mraeisf oeEma 371

4. What is velocity of circulation of money ? Explain ‘Cambridge’ version of Quantity

theory of money. What are its limitations ? 3+9+4
A gbe SIS 5 2 WA AAfaie owgR @ulE’ ot SR IFF | @ ogd AvRTel
fefe

S. What is multiplier ? Mention the assumptions of multiplier theory. How do you
determine the multiplier ? 2+4+10

GTF FIF IE ? BT ORI TS By IF7 | @Pd TR o Fy a0 713 »

6. Critically explain ‘Classical theory of employment’. 16

e e FfiEm oEibe ANEBAREE A I |

7. Define Inflation. Explain the effects of inflation. Analyse the monitory measures in

controlling inflation. 2+8+6
wrfeR @ i) urdfsn waea & fo 2 Erdifs Fage Sifds a—EmR SiEm
Ll
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Discuss the functions of central bank. 16

@R ANEI FRAA IEBA F |

Distinguish between Internal and External Public debt. Explain the burden of
Public debt. 6+10
TG 8 AT SRR A AL (N | TR R AR o0 /i 37|

Discuss the Adam Smith’s theory of absolute cost difference as the basis of

international trade. 16

wreies e fofe o smem e vas a1 N o T 641

Write short notes any two of the following : 2x8=16

TFpe Bt B ( 7 e afB ) ¢

a) Consumption Function

COI% oFP

b) Credit Control Policy
e frger Afo

c) Gains from International Trade

JEGIeF AfNET AT TS

d) Inflationary Gap.
TErHAOR %1 |



ECOG (GEN)-03 154

West Bengal State University

B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2014

PART - 1I

ECONOMICS — GENERAL
Paper ~ III
( New & Old Syllabus )

Duration : 3 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
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GROUP - A
faort - =

1. Answer any ten questions from the following : 10x2 =20

CT-(FIF o6 AT Bed fm ¢

a)

b)

c)

d)

State two characteristics of the Indian economy.

SR TR i ey ey @ |

What is ‘Population Explosion’?

‘RACER F 2

What is meant by ‘Green Revolution’ ?

e fagd’ IeT0 6 @RI 2

What do you mean by ‘vicious circle of poverty’ ?
‘wiiwR qBve geco 5 QIRE 2

What was the population in India as per Census of 2011 ?

205 -G TSR] S SIS G-I Al ¥ foe 2
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What is meant by land reform ?

SEEKANE L ICAE N (Tl

What is the difference between cottage and small scale industries ?

ToIT FBRT @ FHIRSA F4tara T el 2

Mention two important credit control measures of Reserve Bank of India.

wiRced oS anmE wd Fager 4t oFes)d omfer Swe I

Mention two of the principal causes of continuous deficits in India’s balance
of payments.

OHITOA (@I FTATRY @IS Wibfod Yo 24 SR S A |

Define foreign aid.

TR e 1@ e |

Mention two major sources of tax revenue of Central Government.

RGN I B9 AGTCEA 10 A4 BT T I |

What is liberalisation ?

THIANBI B 4 2

Mention any two problems of Industrial Development in India.
OCS RTEIRAEY 6ca ulb A9 Siey I |
What is meant by cuollective bargaining ?

(Y HRAFIIFE Pl 40T ?

Write the full form of NABARD.

‘NABARD’ @3 o @ifG fergA |
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GROUP - B
faemt - 9
Answer any five of the following questions. 5x 16 =80
@-FA A5 TR Tex A |
2. Write a note on the changes in the sectoral distribution of National Income of
India during the plan period. 16

ARFTAFIE SRS TTEA AEH (F@TS IBEAT AT A @zfE frm o1y

3. Discuss the theory of demographic transition with reference to India. 16

wIAtea Ao T G ST g6 JE B FF |

4. What are the major objectives of Land Reforms in India ? Discuss how far it has

achieved its desired goals. 8+8
CRATST QRERFER 4N Gl 6 6 2 @ 39y OF TS 75 WEH FU00 901 HPe
QAR FIF®AT T4 |

S. Explain in detail the success and failures of Five-Year Plans in India. 16

6. Discuss the role of Reserve Bank of India in controlling inflation. 16

TErRITS NEge Sy ReTe aeEe o SiEsar FH 1

7. Discuss the relative importances of direct and indirect taxes in Indian tax
structure. 16
8. What are the causes of industrial disputes in India ? Critically discuss the
measures adopted by the Government to settle the disputes. 6+ 10

e e fiarem smaele 6 2 9 Rerg I0om o= swer 393 RIS RS
ARAFBAEF SNEAA I |



10.
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What are the problems of financing in case of small scale industries in India ?
Discuss, in brief, the activities of the main institutional sources of finance for the
small scale industries. 8+8
A0S RS RGN FLHAE (36 [ 4@ oM o) ¥W 2 JurEen R aesieaems
A4 AfSBIFE Tevafera TN T AEIHAT I |

Discuss the measures taken by Government of India to eradicate poverty. State

your judgement on the success of these measures. 8+8

TR IR IoP R0 WiNe QA FOPIefa T e s @8 e
HILPFQ FAE HOAR TON© G I |
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